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The number density of molecules of a gas

depends on their distance r from the origin

4
as, nfr)=nye~ """,

Then the total number

of molecules is proportional to :
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Correct Marks: 4 WrongMarks: 1
A particle is moving with speed o=b Jx
along positive x-axis. Calculate the speed
of the particle al time t =1 (assume that the

particle is at origin at t=0).
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Two particles are projected from the same
point with the same speed u such that they
have the same range R, but different
maximum heights, h | and hz- Which of the
following is correct ?

Options:

R?=16 h;h,

R2=4h}h,
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, Ri=4hh,
, R°=2hph,
, R?=hh,
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A block of mass 5 kg is (i) pushed in case
(A) and (ii) pulled in case (B), by a force
F=20 N, making an angle of 30° with the
horizontal, as shown in the figures. The
coefficient of fricion between the block and
floor is w=0.2. The difference between the
accelerations of the block, in case (B) and
case (A) willbe: (g=10 ms2)

F=20N
ot
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A spring whose unstretched length is [ has
a force constant k. The spring is cut into
two pieces of unstretched lengths [, and [,
where, |, =nl,and nisan integer. The ratio
k,/k,of the corresponding force constants,
k; and k, will be :
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A smooth wire of length 27r is bent into a
circle and kept in a vertical plane. A bead
can slide smoothly on the wire. When the
circle is rotating with angular speed w about
the vertical diameter AB, as shown in
figure, the bead is at rest with respect to
the circular ring at position P as shown.

Then the value of w- is equal to :
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=
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Three particles of masses 50 g, 100 g and
150 g are placed at the vertices of an
equilateral triangle of side 1 m (as shown
in the figure). The (x, y) coordinates of the

centre of mass will be :

Y

1Tl3 =15() B

i T v #\_

Aol
/iy
ALk
.-'"f : 1\‘"- ik
50 g=my | £60° ! \mz‘—;mg

0 05m 1.0m

Options:

7 3 )
— R, —m
12 5

1, ™
{F 3 )
— IN;,——m
l_'l

5 N A
Vs
— 1IN, —Imn

o * A
.-"ﬁ =
—IIl‘l, —1Im

4 N F = @

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

;
Qcollegedunlas
India’s largest Student Review Platform



50 g, 100 g 791150 g = T H0I = FEA79R
1 m 4 A U GHEE 99 & A1 9 TG
| 59 F1ehm % g 9 (x Ty & s

B :
Y
my=150 g
i N
/N
If’f : \\
9 B .
50 g=my |£60° ! \m-f;(mg
0 05m 1.0m

Options:

7 NER
— m, —m
12 8

1. .

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

50 g, 100 g »i4 150 g £ YISl A8 56l
ITm deld aidl Wueisy BEsior Ririleig=i
Yz Y5l A B, g4I Segl (v, ) AL

9l

50 g=my '”:{;.[]D

0 0.5m

Options:

;
Qcollegedunlas
India’s largest Student Review Platfor m



).
{ F % |
—m, —1m
1'1
2. % = )
[ 3 5 )
- m, —1m
3 4 12 g
3 ,j{ ) ,
—I' m, —Im
4 % o e 4

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The ratio of the weights of a body on the

Earth's surface to that on the surface of a

1
planetis 9 : 4. The mass of the planetis ﬁih

of that of the Earth. If ‘R’ is the radius of the
Earth, what is the radius of the planet ?
(Take the planets to have the same mass
density)
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A uniform cylindrical rod of length L and
radius r, is made from a material whose
Young's modulus of Elasticity equals Y.
When this rod is heated by temperature T
and simultaneously subjected to a net
longitudinal compressional force F, its
length remains unchanged. The coefficient
of volume expansion, of the material of the
rod, is (nearly) equal to :

Options:
6F / (wr2YT)

, 9F/(mYT)

L 3F/(w2YT)

, F/(3m2YT)
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A solid sphere, of radius R acquires a
terminal velocity v; when falling (due to
gravity) through a viscous fluid having a
coefficient of viscosity . The sphere is
broken into 27 identical solid spheres. If
each of these spheres acquires a terminal
velocity, 5, when falling through the same
fluid, the ratio (v,/v,) equals:

Options:

g 2
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g 27

5 Y2
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A Camot engine has an efficiency of 1/6.
When the temperature of the sink is
reduced by 62°C, its efficiency is doubled.
The temperatures of the source and the sink
are, respectively,

Options:

1 9Q9°C, 37C

5 124°C, 62°C

5 3, 9900

4 62°C,124°C
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5 124°C, 62°C

5 37°C, 99°C

g 02, T4°C
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A diatomic gas with rigid molecules does
10 | of work when expanded at constant
pressure. What would be the heat energy
absorbed by the gas, in this process ?
Options:

i A
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A small speaker delivers 2 W of audio
output. At whatdistance from the speaker
will one detect 120 dB intensity sound ?
[Given reference intensity of sound as
10 " 12 W/m?]

Options:

i 10 cm

20 cm
30 cm

40 cm
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30 cm

40 cm
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Two sources of sound 5, and S, produce
sound waves of same frequency 660 Hz. A
listener is moving from source S, towards
S, witha constant speed u m/s and he hears
10 beats/s. The velocity of sound is
330 m/s. Then, uequals:

Options:

] 25m/s

5 55m/s

o 100m/s

150 m/s
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Options:
25m/s

1

5 55m/s

5 10.0m/s

i 150 m/s
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3 25m/s

5 55m/s
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i 150 m/s
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Let a total charge 2 Q be distributed in a
sphere of radius R, with the charge density
given by p(r) =kr, where r is the distance
from the centre. Two charges A and B, of
—Q each, are placed on diametrically
opposite points, at equal distance, a, from
the centre. If A and B do not experience
any force, then :

Options:

A—q=-1/4
1.‘18 R

oy A
2.3—2 MR

a= R,fﬁ

o5
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In the given circuit, the charge on 4 pF

capacitor will be :
1wk
4 uF
—t 5 uF
|
3 pF
| |
] T
10V
Options:
1 96 pC
?
5 24nC
5 54 pC
4 134 pC
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Options:
. 9.6uC

24 pC
5.4 uC

134 pC
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5 24 pC
o 54nC
4 134uC
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One kg of water, at 20°C, is heated in an
electric kettle whose heating element has a
mean (temperature averaged) resistance of
20 2. The rms voltage in the mains is
200 V. Ignoring heat loss from the kettle,
time taken for water to evaporate fully, is
close to :

[Specific heat of water=4200 J/(kg °C),
Latent heat of water=2260 k] /kg]

Options:

] 3 minutes

10 minutes
22 minutes

16 minutes

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1= Yl (ArTHE S ) 20 ) % U e
el | 20°C & 1 kg IHT 1 9t ¢ | g
#AMYFd T rms ATe2dl 200 V &1 FHaell J Fo
B T S IR S

[art =1 fafere Fe1=4200 J/ (kg °C),
T = T 3= 2260 k] /kg]

Options:

131"1%:&:’

3 10 7=

Bzzﬁr—m

j 16 T2

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 .
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20°C dAlriA 2¢d 1kg &0 sl wellA 9alsgs
sledl od% 2R3 s3eUML 24U 8 5 sl (1R 57
dlzdl ([sastrzdl) (dsu-Haugl) 321l
weRlE 20 0 8, Hd-uAl rms dleesy 200 V 9.
Gleafly ey wipierdl, dyel welld vsdloa-
Yell ALl HHH Al 595l &.

[ welldl ERre Gru=4200]/ (kg °C), well-l
e It Gleui=2260 K] /kg]

Options:

_3[31[31,2

1

5 10 Rz
5 22 [l

4 16 Rl

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

An electron, moving along the x-axis with

an initial energy of 100 eV, enters a region

of magnetic field B =(1.5x10 3T}123t S
(See figure). The field extends between
x=0and x=2 cm. The electron is detected
at the pointQ on a screen placed 8 cmaway
from the pointS. The distance d between
Pand Q (on the screen) is :

(electron’s charge =1.6 x 10~ 19C, mass of
electron=9.1x10 ! kg)

Q.

L
¥

;
Qcollegedunlas
India’s largest Student Review Platfor: m



Options:
1 1.22 cm

5 12.87 cm

g 11.65 cm

i 2.25 cm

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
100 ¢V ST %1 T SelaeA Sl x- 314 & Ffew

A, B = (1.5% 10 miﬁ F I A
# fags muawm Fa & (fea efad) | g==1a
@lﬂx=ﬂﬁx=2cmﬂ$ﬁ1ﬁ_ﬁ%l ﬁﬂSH
8 cm T W TEd 9S W gerEe o 99=d fag
QWM fAgPamQF g %1 g d
(94 ) =1 HE 2 :

(SeTER 1 AEN=1.6 x 10~ 19C, To1a2 1
ZHA=9.1x 1031 kg)

v

S = > P

-2 L';'n—l-
- 8o »

Options:
1.22 em

1.

> 12.87 cm

g 11.65 cm

4 22em Qcollegeduniag



Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

100 eV sfzdl wRlMs God aRiadl 215 9d2iq

x- ool sl o 52, B =(L5x%10 3T“}ﬂ
o2 cll otdla At sl Bzl § s (2uslt
sgll) B A S, 2 EA x=0 24 x=2cm
q22l WU B, U 9dsgiA, S 4l 8 cm @ik
Al USEL UL Q (6 o Al 8. (usEL
Y2) (G P 214 Q w2l 2idz d ¢

(deszldl [dyamir =1.6x 10 9C, 2l
g0 =9.1x 1031 kg)

Options:
1 1.22 cm

5 12.87 cm

g 11.65 cm

i 2.25 cm

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Find the magnetic field at point P due to a
straight line segment AB of length 6 cm

carrying a current of 5 A. (See figure)

(L, =47 x 10 7 N-A~2)

-+

Options:

i 1.5x10-°T

5
5 20x107°T

5
2 25X107°T

o
i 3.0x10~=T

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

5 A YR & U H1Y 1 & 6 cm o7+ AU AB

F =, (FeeEn), fag P W g=wE a9

| ity |

(p,=4wx10"7 N-A 3

I’
Jim
r'lr r.' : g
A.,.,rf _."l. : ""n. Lj\.
>/ | ; .1?)
f ol : i ""._
Fi 1 J
i i Y
HI' > : F
A B
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Options:

i 1.5x10-°T

5
5 20X T

5
5 25X107°T

D
4.1DxH] T

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
w5l B2zl AR, 6em dettd Uil e
Hells Al (5 A) vis AB @l 6 P 2w 2esid
RERNUY
(k,=4mx10"7N-A~2)

oSSR e ————

At
S '-x‘*-\s*
S/ / & 9
& N
o ¢ W\
/ e
i LY
F i o,
K . o
A B
= 6 cm g
Options:
i 1.5x10° 2T
5
5 201 T
5
4 25x10-°T
4.1DXH]5T

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

;
Qcollegedunlag
India’s largest Student Review Platform



Consider the LR circuit shown in the figure.
If the switch 5 is closed at t=0 then the
amount of charge that passes through the

L
battery between t=0 and 1=E is :

Opt_ions:
7.3 EL

£

1. R
27EL

5

> R

EL
]
3 27R

" EL
= 2

4 7.3R

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
a4 # uF LR gy <9 1 afg t=0 ®
Fl S 1 92 Fd &, 1 Ua 4 e 9

; o W g
WWWWt={]@H=E%ﬁHﬁ

ﬁ'fTﬂ -
L. R
TODI WA
i -
—se «fj
E S
Options:
7.3 EL
2
1. R
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EL
7.3R2

4.

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
wigldul gailad LR vz eqqsl dl. ot t=0

. e I 3
HHY 50 W8 S dl dedluizl t=0 21 t=ﬁ

422 YHR Adl [EByae ¢

L. R

g
FOOE —"WW

i -
—sy
E S
Optlions:
7.3 EL
2
1. R
27EL
2
2 R
EL
5 2.7R*
EL
~ap2
4 7.3R

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A plane electromagnetic wave having a
frequency v=23.9 GHz propagates along
the positive z-direction in free space. The
peak value of the Electric Field is 60 V/m.
Which among the following is the
acceptable magnetic field component in the

electromagnetic wave ?

Options:
N ™
, B =60sin(0.5x 10°x + 1.5x 10"'1)k
— i A
5 B= 2x10™ 7 sin(0.5x10°z — 1.5 x 10114 i
% 7 3 5 Y
5 B = 2x10°sin(0.5x10°z + 15 x 10" '1)i
=, Ao T 402 Ty "
i B = 2x10 " sin(1.5%x10°x + 05 x 10M' 1) §

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Ha A H v =23.9 GHz %1 U% 99de {924
T A0 SATHE -4 &1 T3 | gem
I ¥ THH faEd a9 1 Afueew 9=
60 V/m 1 =1 8 4 % @1 fased 5@ @0
F grEhg 49 % fad wied ¢ ?

Options:

—

M
B = 60sin(0.5 x 10°x + 1.5 x 104k

1.
=y = A
> B= 2%10™ 7 sin(0.5x10°z — 1.5 x 10'19) ¢
= 7 3 ST
5 B = 2x107sin(0.5x10°z + 15 x 10"'4)i
B AT o 42 1y’
i B = 2x10 " sin(1.5%x10°x + 05 x 10M' 1) §

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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0=23.9 GHz 2ug(n audd =15 dxqad
[l 2ol Yo sl 4+ z- Bl
Al 52 8. [Agasiad Hedd Y4 60 V/m 8.
(g etzjotsla ol ellsil e et 2otsl gl
Aliiall 541 s 2ellsed gal?

Options:

, B = 60sin(0.5x 10°x + 1.5x 10''1)k
.. et

5 B= 2x1077sin(0.5x107z — 1.5 x 10'14) i
*: 7 3 S Y

5 B = 2x107sin(0.5¢10°z + 1.5 x 107 t)
= e, 2 fhi:

¥ B = 2x107 sin(1.5%10°x + 05 x 1071 §

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A transparent cube of side d, made of a

material of refractive index -, is immersed
ina liquid of refractive index p(p,<p,). A
ray is incident on the face AB at an angle
B(shown in the figure). Total internal

reflection takes place at point E on the face

BC.
B E &
//?\
* _ﬁ_ e ———— 1 \
/ M2
My
A D

Then 6 must satisfy :

Options:

2
P Q ias
2 kel

view Platform



1

0 =sin
3 B2
p<sin ' EL
Lo
4,

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

AT .y o U 29 H ATHGAH oy <pL,)
% TSI 2% I S A 2 | T H UE
0 39 2% F T% AB W 74 4, AR,
0 I R AMfAG 2 €1 TS BC HFAgE™W
Ui A TIE @ 6 o, 0 % A SE
1 T G HOT 7

B E C
2
______ 70N
0 A
_.-"f ]“12
Ky
A D
Opf[ions:
|' >
U{Sf_ﬂ_l JM—% 1
i F1
T

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

;
Qcollegedunlas
India’s largest Student Review Platform



d sredl ety Guddl 2 p, s2dl AslMaAls
gLl qEHHEEL ordl 2ls WREls A
py oredl dslodis gl usdb sesaml
A B (1g< po). AB Gy U2 0 5181 (2ugldul
Eellel wirR) @is (5261 2Ad s2aHl 20 5.
ellsy BC ur [ E =1 yel=idls yaed
MY 8,

A D

0 o HeU v, €l o g,

Options:

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A system of three polarizers Pl, P:,_, P3 is set
up such that the pass axis of P; is crossed
with respect to that of P;. The pass axis of
P, is inclined at 60° to the pass axis of P,.
When a beam of unpolarized light of
intensity I, is incident on P, the intensity
of light transmitted by the three polarizers
is I. The ratio (I,/I) equals (nearly) :

Options:

;
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1.80

293

10.67

16.00

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

1 Yo Py, P, 791 P, F1 59 e Tad € &
P, 1 TH-39 P, 1 TH A A HAT 21 P,
T T34 P, F TH-59 T 60° F WL
o4 U 1 el =1 Sgferd wehre foRm 9 Py
TR SAMfAd 2 ¥ 9 $H O g % FEEeE
T [ e #1 g fam g9 i 2 2
AT (I, /1) 1 Fehead =[ 2

Options:

i 1.80

5 293

5 10.67

4 16.00

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A0l Yoy (UlERERR) Py, Py 2 Py o 215 dat
2l A 22l 209 © 5 ol wdudar Py -l
E5-al Py Al £5-215t A det 30 28 g
P, -l e5-248, Py Al £5-248A 60° 5181 ~wiel
5. sl I dladl dddl yeded wsel
Wit Py W 2 sl 2 8, 4R
damigll [Felu wudl dlsa 1 wa 8. (1,/1)
el Al sl el

Options:

i 1.80
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593

10.67

16.00

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Consider an electron in a hydrogen atom,
revolving in its second excited state (having
radius 4.65 1‘5!.}. The de-Broglie wavelength
of this electron is :

Options:

, 354

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

H g W T (59 Fe B 465 A ®1)
TH SoiERM i Te-grel aiTes 2
Options:

1 33A

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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SIBGler URHIGHIAL BA5IAA Sl |l 5 &
ddl el Grisoa =432 (4.65A syzdl BEsai)
UMMl 5% 5. WL Sdsgld el dsuida
Sl-eedl dRadend

Options:

1 33A

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The electron in a hydrogenatom first jumps
from the third excited state to the second
excited state and subsequently to the first
excited state. The ratio of the respective
wavelengths, A I / A, of the photons emitted
in this process is :

Options:

I?
, /5

7/5
9/7

20/7

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T H T Swifod AT H 7 qeIvEg
o0 | 999 Saiford ST ¥ | g1 =
Hehauil § Scafedd S & G T @
A A, /N, B

Options: .
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27/5
7/5
9/7

20/7

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
25 Grisgd 2ol wdl aBgler- YRHIe
215 HAsziA UaH old Grisod serenvizl [l
Grisot w21l 2t Ul uaH Grsgd 2ep
dsidl 52 8. 21 UlEL Bl s Gruloia
(el ddodeudaidl 2pelirz A /A,
Options:

I?
, /5

7/5
9/7

20/7

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Half lives of two radioactive nuclei A and
B are 10 minutes and 20 minules,
respectively. If, initially a sample has equal
number of nuclei, then after 60 minutes, the
ratio of decayed numbers of nuclei A and
B will be:

Options:

L 1:8

5 9:8

8:1
3. Qcollegedunlas



3:8

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o1 AT ATHF, A 991 B, T AYHT, FA:,
10 minutes F4T 20 minutes &1 4f2 TF q’ﬂ?l
& oy ¥ 2R AR A g e A
60 minutes I¥ETd A T B & #fgd "SI
I WEAT FT ST B
Options:

1_I:El

9:8

3:8

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
of sl ~ylsaupl A @il B Al 22y
s 10 [z 24 20 BilHz 5. wEe|,
YA 1A oAl 4 (sEIAL AL LRl
60 BilHz ouE, A 21 B ezl srimial
~[5EMHIAL 2Bl 23,
Options:

1_I:El

9:8

3:8

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Figure shows a DC voltage regulator
circuit, with a Zener diode of breakdown
voltage=6V. If the unregulated input
voltage varies between 10 V to 16 V, then

what is the maximum Zener current ?

I = Rp=4kQ

[~
2

Options:

1 75 mA

5 1.5 mA

g 25 mA

i 3.5 mA

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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o= o Ho[ dieedl =6V & S 2EE 9 T4
faega fraas uftay femmn 21 9fz sifEtE
faIfer fas 10 V 991 16 V & =9 ageta1 2
o S =ETe § AfaEay | & 9 20

[ 1
Options:

1 7.5 mA

> 1.5 mA

4 25 mA

4 3.5 mA

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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6V sr2dl elsslB cllesy asdl #43 sisal
ordl 215 DC dleesr 24dzn ([Hanis) wawa
w5l 2214 &, od unregulated (2AlHuMs)
eiye dlcar 10 V 2416 V -l 422 sgadl ¢l
ol Mesri¥ 22 Mol S2dl ©3l?

= R,=2kQ

Iy,

v 1o \
o

/71& - R, =4 kO

W

Iy

Options:
1 7.0 mA

5 1.5 mA

g 25 mA

i 3.5 mA

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In an amplitude modulator circuit, the
carrier wave is given by,
C(t)=4 sin (20000 7rt) while modulating
signal is given by, m(t) =2 sin (2000 rt). The
values of modulation index and lower side
band frequency are:

Options:

i 0.3 and 9 kH=

5 0.4 and 10 kH=z

= 0.5and 10 kHz

;
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4 0.5and 9 kHz

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
U A "iged IRy ¥ FHEe 9w @i
C(t) =4 sin (20000 wwt) &, S&F wger fo=a
m(t) =2 sin (2000 wt) ¥ | e GaHish a0
=t wvd S agfe % 9 &

Options:

) 0.3 9919 kHz

5 04749110 kHz

= 0.5 9491 10 kH=

4 05TAT9kHz

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ply wiyldzys (SulrdaiR) Hisyde wkuaai,
$lur d@ot C(t) =4 sin (20000 wt) 95 SR
Weydléal BeHd m(t) =2 sin (2000 wt) =%
iyl 2 B, MSYEUA s A [
(lower) ABseL=s Al 28l :

Options:

, 03 24 9 kHz

5 04 2 10 kHz

5 05 i 10 kHz

4 05 21 9KkHz

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A tuning fork of frequency 480 Hz is used
in an experiment for measuring speed of
sound (7) in air by resonance tube method.
Resonance is observed to occur at two
successive lengths of the air column,
!'.1 =30 cm and 12=?'{] cm. Then, v is equal
to :

Options:

;. 338ms!

5 379ms

; -1
= 384 ms

: 1
4 332 ms

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

HAAE e fafa g 9 | @i & = (o)
A T o o9 T WA H 480 Hz 319\ &
T 1 S A € | 91 TR F 81 Sariml
eEErsdl 1, =30 cm W41 1,=70 cm & ford
A W B0 €| T 0 I AM € :

Options:

1 338 ms 1

5 379 ms

; -1
= 384 ms

: 1
4 332 ms

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

et B0l -letell el el 224 (o) Ml
25 Ul Al A el 2l wugl
480 Hz ©. “ s[5 249l 1,=30 cm 21
I, =70 cm dotigel el 2AtiHME 2AHIE sasll
WA B, do 23l

Options:
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338ms!

[y

379 ms
384 ms !

332 ms !

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A moving coil galvanometer, having a
resistance G, produces full scale deflection
when a current Ig flows through it. This
galvanometer can be converted into
(i) an ammeter of range 0 to I (I, > Ig} by
connecting a shunt resistance R, to it and
(ii) into a voltmeter of range O to V (V=GI,)
by connecting a series resistance Ry, to it
Then,

Options:

Ra z Iy
-2 =8
R, Ry=G“and Ry [Iu—lg]

II-I

5 Ra_. &
RAR\..-':G and R.,\_, iIﬂ_IEI]

)
~2 IE{
RARy =G\ 1 |land
R
2
Ry _|b7lg
R‘." IEI
z. '
11
2| 0 r]
RAR\.?—G[ [ |and
g
R A I
R‘v’ I]—I ]
4, “{l $
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Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ol G & & 9d Fedl aEd § qRI I,
WWH@T‘TWW%IWW@W
0H 1, (Iy>1,) R % ST H T ¥z wfqus
Rhwnﬁaﬁ?ﬁaﬂmﬁ%t THT SR
1 WH 0 HV (V=GI,) ¥ dezdiet § uh
Ul Wiy R,, ML IfEfid T T

Tl
Options:
i 2
R, R, =G? 2 o SA- |
Ry lﬂ—iJ
1,
" R_*-= g
o> E
R ARy =G 2( 15|
Aby = !
llﬂ_lﬂJHEﬂ
R_A_[ﬂ}‘
3 Rv 's
-1, |
RAR'J—GE[ — e
g )
R,\_[ Iy ]

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
G s/2dl woRlY dsdl 2is wldd sjumso
el T sr2dl HeUte WHR stl el ¥5d
Bld- 2 5. 21 ea-ldled (i) R, wvedl
tle (qy 2erld) odsl 0 Al T, @[> 1) el
(For) erieitl wAHRUL 2 (i) R,, svedl 26l
el sdsl 0 94l V (V=GI,) ¥ 42iel
lezllzzal il 54 24 9. dl

Options:
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Rip ek il s ]

=G2ud =

ATV W !\f-ﬂ_IpJ
Ry L

8 =
REaRv =G"| & |24
| To—1g )
2
R A :ff”—ff,_“‘.
e |
Ry | Iy |
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Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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In the following skew conformation of
ethane, H' —C — C—H" dihedral angle is :
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Correct Marks: 4 WrongMarks: 1
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The ITUPAC name for the following
compound is:
CHg
HaC o~ ,,,JEJ?; CH

‘ TCHj

CH»

Options:
3,5-dimethyl-4-propylhept-6-en-1-

yne

3-methyl-4-(3-methylprop-1-enyl)-1-
heptyne

3,5-dimethyl-4-propylhept-1-en-6-

yne
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3-methyl-4-(1-methylprop-2-ynyl)-1-
j heptene
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Consider the following reactions :

AgZD
: . ppt
A— a
Tro TR Z0C] Turbidity
g2t/ e e “\ 2, within
conc. HCI 5 minutes
‘A’ is:
Options:
i CH=CH
5 CH,-C=CH

] CH3;-C=C—-CH,

, CH,=CH,
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Ag,O
= ppt (37a&9)
A A _
Hg?'/H' NaBH, . ZnCl, 5P
’ "\ HCL
KR
Options:
, CH=CH
, CHz-C=CH
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i CH=ClH

5 CHy~C=CH
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Which of the given statements is .
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Options:

: [tis present in animal cells.

It is a straight chain polymer similar
5 to amylose.

5 [tis present in some yeast and fungi.
Only a-linkages are present in the

4 molecule.
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1

The correct name of the following polymer
is:

CHj

By

\ /A

Options:
Polyisobutane

5 Polyisobutylene
Polytert-butylene

Polyisoprene
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Benzene diazonium chloride on reaction
with aniline in the presence of dilute

hydrochloric acid gives :
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Heating of 2-chloro-1-phenylbutane with
EtOK/EtOH gives X as the major product.
Reaction of X with Hg(OAc),/H,0
followed by NaBH, gives Y as the major Qcolle —
product. Y is: Pt
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What will be the major product when

m-cresol is reacted with propargyl bromide
(HC=C-CH;Br) in presence of K;CO; in
acetone ?

Options:

CHj
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An ‘Assertion” and a "Reason’ are given

below. Choose the correct answer from the

following options :

Assertion (A): Vinyl halides do not

undergo nucleophilic substitution easily.

Reason (R): Even  though the

intermediate carbocation is stabilized by

loosely held w-electrons, the cleavage is

difficult because of strong bonding.
Options:

Both (A) and (R) are correct

statements and (R) is the correct

explanation of (A).

Both (A) and (R) are correct
statements but (R) is not the correct

explanation of (A).

(A) is a correct statement but (R) isa

= WIOng slatement

Both (A) and (R) are wrong
statements.

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Correct Marks: 4 Wrong Marks: 1
Which one of the following is likely to give
a precipitate with AgNO; solution ?
Options:

, ol

CHCl,
2. ;

. (CHy),CCl

, CH=CH-Q
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Options:

, aa,

, CHCl,

. (CHy,Cal

, CH=CH-Q

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AgNO, At giei-{l 242k L2 U8l 55 215 25
il 2157

Options:

, ccl,

CHCl,
2 ;

. (CHy,Cal

, CH=CH-Q
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In comparison to boron, berylium has :
Options:

greater nuclear charge and greater

first ionisation enthalpy.

lesser nuclear charge and greater first
5 ionisation enthalpy.
lesser nuclear charge and lesser first

ionisation enthalpy. Q collegedunias



greater nuclear charge and lesser first

ionisation enthalpy.
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the blistered appearance of copper
during the metallurgical process is

due to the evolution of CO..

pig iron is obtained from cast iron.

leaching of bauxite using
concentrated NaOH solution gives
sodium aluminate and sodium

2 silicate.

the Hall-Heroult process is used for
the production of aluminium and

irom.

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TE FIAE
Options:
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T2 T e i eaH UeHHe a9
o Hifeas faefisre 3 &

UEHITEH 91 2= % 3c9eA & fon
, ET-Ee Yo W el €
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The temporary hardness of a water sample
is due tocompound X. Boiling this sample
converts X to compound Y. X and Y,
respectively, are :

Options:

. Mg(HCO;), and Mg(OH),

, Mg(HCO,), and MgCO,

. Ca(HCO;), and Ca(OH),

, Ca(HCO,), and CaO

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e el i STEATER FSRal AT X F FH
| 50 Afedl 1 391 R X FEest A Y
B AWM EN X T=Y, FHA:, E

Options:
, Mg(HCO;), T Mg(OH),

, Mg(HCO,), 7 MgCO,
. Ca(HCOs), 71 Ca(OH),

, Ca(HCO,), 711 Ca0
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Yt A3l 2422004l sll-cl dder X AL siel
5. LAyl Gs1oidl X o Hdlor Y 4l 3uicr
AL B, X 2 Y 25U O ¢
Options:
Mg(HCO3), “t Mg(OH),

, Mg(HCO;), 4 MgCO,
, Ca(HCO,), 24 Ca(OH),

, Ca(HCOy), 1 Ca0

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The INCORRECT statement is :

Options:
LiND3 decomposes on heating to
give LINO, and O,,.

Lithium is the strongest reducing
5 agent among the alkali metals.

Lithium is least reactive with water
among, the alkali metals.

LiCl crystallises from aqueous
solution as LiCl-2H,0.

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1
TeAd 99 ¢
Options:
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Options:
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2L O, =i B,
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Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The C—Cbond length is maximum in :

Options:

1 Cﬁﬂ

graphite

= diamond

C
70
4
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=1 5 ¥ fFeH C - C A=y 7= Afaswa
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Options:
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C—C ot dod Heriy 14l 87
Options:
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A2
2 dlal

4 C?T}

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Thermal decomposition of a Mn compound
(X) at 513 K results in compound Y, MnO,
and a gaseous product. MnO, reacts with
NaCl and concentrated H,SO, to give a
pungent gas Z. X, Y, and Z, respectively,
are :

Options:

i K, MnO,, KMnQO, and 50,

, KMnO,, K,MnO, and Cl,

;
Qcollegedunlas
India’s largest Student Review Platform



. K,MnO,, KMnO, and CL,

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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513 K W, UsF Mn I (X) & a9 1092
T ATF Y, MnO, T TF THE 39S 9
@ €1 NaCl 991 8% H,50, ¥ MnO,
ﬁwﬁmmwﬁl@ﬁnziﬂ%l X, Y 71
Z &9 &

Options:

. KMnO,, KMnO, 74150,

KMnO,, K,MnO, 741 CL,
. K;MnO, KMnO, 721 CL,

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
513 K, Mn ¥l (X) o Gxlld [Heizd aa
Hallord Y, MnO, 24 syl gl sy .
MnO, 21 NaCl i #irg H,S0, e uba
3l 9 WAL Ay Z @ B, X, Y @ Z
UAH O
Options:
. KoMnO,, KMnO, 2 SO,

, KMnO,, K,;MnO, »1Cl,
. K;MnO, KMnO, »Cl,

, KoMnO,, K;MnO, A Cl,
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Correct Marks: 4 WrongMarks: 1

The pair that has similar atomic radii is :

Options:

1 Ti and Hf

5 Mn and Re

= Scand Ni

i Moand W

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

&l :
Options:
1 Ti 9491 Hf

5 Mn 9491 Re

o Sc 99T Ni

4 Mo 91 W
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Options:
, Ti=AHf

5 Mn wirl Re

z 5S¢ ¥Ni

¥ Mo =4 W

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The compound used in the treatment of

lead poisoning is :

Options:
D-penicillamine

1
5 EDTA

g Cis-platin

i desferrioxime B

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

ore famfama % ST=R H g 49+ & :

Options:

,  D-TAIFEEHTE
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z.

g g -
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Options:
) D-uAlRd s

5 EDTA

_ Ba-alq

) Lasdlaisudy B
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The coordination numbers of Co and Al in
[Co(Cl)(en),]Cl and K;3[ANC,04):],
respectively, are :
(en=ethane-1, 2-diamine)

Options:

: 6 and 6

5 3and 3

g Sand 6

i Sand 3

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[Co(Cl)(en),JC1 @1 K,[A(C,0,),] ¥ Co
T Al Tl SUHEHASH S&TE, HE:, T

(en= TIA-1, Z-Ta'TE"QTﬁ_-I)

Options:
] 6Td496

> 3aA3

5 54916

. 3
i 5 91 2

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[CL}(CI}(EI‘I}P_]CI 4 KE[AI{CED‘i}ﬂ 4l Co
wied Al Al 4Bl 2115 2iAsH B
(en= g84-1, 2-518¥31E)

Options:

, 626

5 3 24 3
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The primary pollutant that leads to

photochemical smog is :

Options:

ozone
1

5 sulphur dioxide

acrolein

nitrogen oxides

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FTAE, T

Options:

L

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
s ugMsl 5 o UstlL By Yu-gruaal
FlEl o4 & d
Options:
;e

5 U Y8 DSHIES
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Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

25 g of an unknown hydrocarbon upon
burning produces 88 g of CO, and 9 g of
H,O. This unknown hydrocarbon
contains :

Options:

L 20 g of carbon and 5 g of hydrogen

5 24 ¢ of carbon and 1 g of hydrogen

5 22 g of carbon and 3 g of hydrogen

j 18 g of carbon and 7 g of hydrogen

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T T BE Sk 6 25 g =l el W8S g
CO, T4 9 g H,0 309+ 2 &1 59 319
BsEEE § 3 gf=fed g,

Options:

, 20 g A 15 g BT

, 24 g A T g FESTSH

5 22 g THIEA 941 3 g TGS

i 18 g =T T 7 g BRI

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
25 g st 19515104 ML 88 g CO, i
9 g Wl Geust A . 2HaUd SOglsIeA Qcollege dunia
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Options:
, 208 51994 ¥l 5 g ¢Blort

24 g 5194 21 1 g @sglev-
22 g 5194 2 3 g eidglov

18 g slol 24 7 g €18 lort

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The ratio of number of atoms present in a
simple cubic, body centered cubic and face
centered cubic structure are, respectively :

Options:

1 8:1:6

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A T, FAA:FHRG GG a9 Few hiad
TG WA H 3UEgd WA ) HE
S FHI:, B

Options:

L 8:1:6

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl Qco!lgesgeduﬂli
No Option Orientation : Vertical =



Correct Marks: 4 WrongMarks: 1
HIEL U, 2 Sedld a2 585 sdld u-
ofElIRRIAL 2l YR AL B2l 0l wiesd

=,

8.
Options:

L 5:1:6

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Among the following, the energy of 2s
orbital is lowest in :

Options:

o B

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
1 5, 25 Ferw FT T fFEH fFas 22

Options:

o B
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fl2ietl sl 51l 25 ses-Al alsa el Al 57

Options:

l.H

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The INCORRECT match in the following
is:

Options:

, AGP<0,K>1

5 AGl <0 ,K=<1

- AG'>0,K<1

.-_"[}z =ty
i AGY=0, K=1

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
=1 Trera frem e 272
Options:

, AGP<0,K>1

AGl <0 ,K=<1

- AG'>0,K<1

.-_"[}z ==
i AGY=0, K=1

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sing| gcqllegeduni'as
No Option Orientation : Vertical @ s e



Correct Marks: 4 WrongMarks: 1
ALkl U5l sAsg o 1 A2l A ¢
Options:

, AGP<0,K>1

% AGY <0, K<1

5 AGP>0,K<1

! {}= —
i AGY=0,K=1

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A solution is prepared by dissolving 0.6 g
of urea (molar mass=60 g mol ') and
1.8 g of glucose (molar mass =180 g mol h
in 100 mL of water at 27 °C. The osmolic
pressure of the solution is :

(R=0.08206 L atm K~ ! mol ™ 1)

Options:
4.92 atm

2.46 atm
2.

5 1.64 atm

8.2atm
4

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

27 °C W, U faerad =1 100 mL a1 H 0.6 g
A (HeR Z=HA=60gmol ") A4 1.8 ¢
Tﬁﬁﬁ{ﬁlﬂ?w=lﬁﬂgmnf 1) gt
= foFan | foerEs 1 WERe 254 26T
(R=0.08206 L atm K~ mol ~ 1)

Options:
4.92 atm
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2.46 atm
z2.

o 1.64 atm

8.2atm
4,

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

27°C 21 0.6 g 4Rl (Hlar €n=60 g mol 1)
2 1.8 g Hsbsef (Wer =180 g mol 1)
100 mL el wiousiln glesL sl 2,
sl (wrzel) 2lGare geuel o
(R=0.08206 Latm K1 mol - 1)

Options:
4.92 atm

2.46 atm
z2.

o 1.64 atm

8.2atm
4.

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

[n which one of the following equilibria,
Kp 2K ?
Options:

. NO3(g) +50,(8)=NO(g) + SO4(8)

2HI(g) = Ha(g) + Ia(g)

2.
- 2C(s) + Oy(g) =2 CO(g)
, 2NO(g) = Ny(g) + Oy(g)

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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e T e e 6 K, 2K %72
Options:
| 'NOy(g) +50y(g) = NO(g) +SOs(3)

2HI(g) = Hy(g) + ()
2C(s) + Oy (g) =2 CO(g)

2NO(g) = N (g) + Oy(g)

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AL U4l s S5 2 K, =K 8l
Options:

| NOy(g) +S50,(g)=NO(g) + SO4(g)

2HI(g) — Ha(g) + La(g)
2C(s) + O5(g) =2 CO(g)

2NO(g) =N (g) + Os(g)

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The molar solubility of Cd(OH), is
1.84x10 > M in water. The expected
solubility of Cd(OH), in a buffer solution
of pH=121is:
Options:

: 6.23x10- 1M

249x10"10M

2,49
1.84

x 107°M
=,

;
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i 1L.84x109M

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

99 ¥ Cd(OH), &1 ®Hi@x fadigma
1.84 x 10~ *M | pH =12 % U 99 e
H Cd(OH), =1 Tw=faq faerma 2
Options:

) 6.23x10- 1M

» 249x10°10M

2,49

— X lLll'_gI"ul
2 l.84
¥ 1.84x10" "M

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Cd(OH), «ll Wil 4z gleneil 1.84 %105 M
. pH=12 ¢i52 gl Cd(OH), - »1fEiq
GLeAell &

Options:

) 6.23x10- 1M

. 2.49x10719M

249

— X 1079M
7 L.54
4 184x107°M

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The decreasing order of electrical
conductivity of the following aqueous

solutions is

0.1 M Formic acid (A),

0.1 M Acetic acid (B),

0.1 M Benzoic acid (C).
Options:

i A>B>C

E_C}A}B
3 C>B>A

i A>C>B

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

11 St faerami = faedia Jresal 1 92
FH T,

0.1 M FIfH=E TfEE (A),

0.1 M ufafes ufas (B),

0.1 M =155 ufEE (C).

Options:

) A>B>C

E_C}A}B
3 C>B>A

i A>C>B

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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AldAt ovedld gl Bed sl sedl 54
8

0.1 M sils =R (A),

0.1 M =\Rils =AGs (B),

0.1 M c=219s =448 ()

Options:

i A>B>C

E_E}A}B
3 C>B>A

i A>C>B

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

NO, required for a reaction 1s produced by
the decomposition of N,O; in CCl, as per
the equation,

2 NOs(g) — 4 NOa (g) + Oa(g).

The initial concentration of N,O; is
3.00mol L~ !and itis 2.75 mol L ~ ! after 30

minutes. The rate ol formation of ND?_ is :

Options:

1 4167 %10 *mol L~ ! min !

5 8.3%33 %10 *mol L~ ! min !

5 2.083x10 SmolL" ! min !

4 1.667 %10 2mol L~ ! min—!

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Qcolleged

unias

view Platform



TF Al F feru sqeress NO, #1 CCl, H
N,O, F 7924 R 391 Fd &8, ol %
e T H T

2 N;05(g) =4 NOa(g) + Oa(g)

N,O &1 W1 A=l 3.00 mol L~ ! @&
30 fo92 % =% # =A@ 275 mol L1 ¥
NO, & T=7ad Hf < 2

Options:

; 4167x10"*mol L™ ! min !

> 8.333x10 SmolLl ! min !

5 2.083x10 *mol L™ ! min~!

¥ 1.667 10 2mol L~ ! min !

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

N,Os « CCl, “i 2udd sx{lsel yorot [Sezd
52l 245 whbarle o35l NO, o Gowe Ay 9.
2 NyO5(g) =4 NO,(g) + Os(g)

N,O; -l 23iid-l #iget 3.00 mol L1 24+
30 Bz wsl 275 mol L™ ! 8. dl NO, -l
eietlsizAl &% 21l

Options:

1 4167 %10 Smol L~ ! min !

> 8.333x10 SmolL"! min—1!

2 2083 %10 *mol L™ ! min !

4 1.667 %10 2mol L~ ! min !

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Among the following, the INCORRECT

statement about colloids is : .
% collegedunias
Options: T s tagen Sutes R Pt m



The range of diameters of colloidal

particles is between 1 and 1000 nm.
They can scatter light.

The osmotic pressure of a colloidal
solution is of higher order than the
true solution at the same

concentraton.

They are larger than small molecules

and have high molar mass.

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Feliced F = | = o § 9 =4 T
TeAd 2 ?
Options:
FIAES] FIM & =4E &1 919

. 1 T91 1000 nm & =19 2 £

o A TR F TH F HFA 2 |
TF B HEd W, Fensel faead &
T 219, Frdtad faerad & 2" &
o T H oA A 1 e ¢ |

4 BT AU HT gorET § 92 B § @R

; 5] "ol 5HE 399 2l 2 |

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Akl U8l 59 (Bt slddl we e <2l
Options:

slAd sei-l el [[drdir 1 2

; 1000 nm Al 92 gy 5.

o ol dstei] usle 5l 23 9. gcqllegeduniag
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Mathermatics
Section Id : 416529279
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Pand: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 416529419
Question Shuffling Allowed : Yes

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let A, B and C be sets such that
$#ANB=C ., Then which of the
following statements is not true ?
Options:

| BnC=é

5 (CUA)N(CUB)=C

o, If(A=B) SC, then ACC

, If(A—C)'S B, then ACB

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T = A, B A9 C 36 4FH & %

A NBCC,d = 5 9 519 91 F91 99 .
= Qcollegedunlas



Options:
l'ﬁmci¢

. (CUA)N(CUB)=C

. AR(A-B)= Gl AC

. af§(A-C) C B, AcB

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HIRLE LA, B2 C He ¢zANBcC dl
Alzker 5] 59 [Heun 2z 6l

Options:

1'5m£:¢

E(Cuﬁwwcumzc
. M(A-B)SC, dl AcC

4 M(A-C) =B, dl AcB

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let z e C with Im(z)=10 and it satisfies
2z

2z 4+ n

=21 1 for some natural number

n. Then:

Options:

i n=20 and Re(z) =10

5 n=20 and Re(z)=-10

5 n=40 and Re(z)=10

i n=40 and Re(z)=—10

;
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Az e C T A0 Im(z) = 10 991 Tl W1
2z

ﬁ@?n%f@l%j | 2i — 1 %1 HT=
iLZ n

LA €, T :
Options:

, D =20 94 Re(z)=10

5 T =20 991 Re(z)= — 10

n=40 A4 Re(z)=10

i n=407d49 Re(z)= — 10

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
QL5 ze C 42 Tm(z)=10 8 2 5185 Wglds
; i (B ; : %
HelnHed — =21 — 1 A HYEIH &=
2z+ n =
&, dl :
Options:

, n=20 ¥ Re(z)=10

, n=20 we Re(z)= —10
n=40 #i- Re(z)=10

, n=40 v Re(z)=—10

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If &, p and v are three consecutive terms of
anon-constant G.P. such that the equations
axt+2Bx+v=0 and ¥2+x—1=0 have a

common root, then o + ) is equal to :

Options: X
% collegedunias



Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ife ua e Tl F1ell I 481 o T
92 o, B TYT vy TH YFN T f& gHiwon
ox2+ 2Bx+y=0TM 12+ x— 1 =0 FTF A
T B, o +y) TR E

Options:

;. By

o
z. B

oy

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o o, B2ty 2L w0 A S el MHRldR
sell (G.P) -t 2ol 2t 505 4El did s ol
ax2 4+ 2Bx+y =02 2 +x—1=0 dHA
ofley €l dl e +7) “loR 8.

Options:

;. By

;
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A value of 68 € (0, w/3), for which

1+cos<H sin~# 4 cos6l
cos>0) 14 sin~6 4cos60 | = 0,1s:
cos20 sinZ0 1+ 4 cosab
Options:
413
18
1.
1
2. 9
7
>
= 24
i
4. 36

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

0 e (0, w/3) =1 TF A7, T fom

. .
1+cos>0 sin“t 4 cosbi
cos20 1+sin=0 dcoshll | =10 %’%’
cnszl] sin“0 1+4 cosbi
Options:
413
18
1.
1
2. 9
71
>
=, 24
.'.-"."iT
4. 36
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

14 CDSEH sinzli 4 cosbi
4:0521] 14 singl! dcoshfl | =0 HUWH
CDSEU sinzl] 1+4 coshi
d M2 0 e (0, 7/3) Al 215 Bud 9.
Options:
T
18
1.
=
5 9
7T
2
3 24
.?":T
4, 36

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If [x] denotes the greatest integer =x, then
the system of linear equations
[sinfB]x +[ —cosb]y=0
[cotb]x +y=0

Options:

has a unique solution if

| [ m 21 } . Vi3 1
Bel—, L l’n’, —
2 3 \ 6 /)
1.
have infinitely many solutions if
- m 21 7
e i T Rl e
5 ; - B J

;
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has a unique solutionif 6 e [E, 2_’“}

3

and have infinitely many solutions if

HE("H’, ?':r]
6

J

have infinitely many solutions if

T 21

H‘E{—r ] and has a unique
¢

solution if 0 e {*:r, ?—'TJ
\ 6

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
g [x] HETH YUIE <x T, o Lias FHIE
A=
[sinB]x + [ — cosb]y=0
[cotb]x +y=0
Options:
%1 HEl UF & € Al

; 2
] E[Er -TFJ LS [Jﬂ', ?_Trw
2" 73 G

aﬂmmqiaﬂﬁaﬁae(g;ig]ﬁm

Wﬁ%qﬁfﬁ E[’ﬂ', ?:]
J

2

27

]Hﬂl'ﬁﬁ
3

%Eﬁaaﬁﬁaﬁﬁe{%,

@ﬁ%?ﬁaﬁ £ [':r, ?ﬂ—].
6

/
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Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

o [or] A x 2l ALl 2L x = A ot YU
izl szl yels galid, dl yaw welszel el
[sinB]x + [ — cosBly=0

[cotf]x+y =0 A

Options:

wirr Gid 8 ad

{TI:’ EﬁrJ [ ?ﬂ'J
HE g L ay
2 3 a6 )’

b5 ¥

wirdc G54l © od
HE[EFZ_’“] L {'ﬂ', ?Ww
v : 6 )

T 27

wire G54 65 o 0 E[—,

Wﬁ-‘{mrt
3 )

2

@m@ﬁea&n%}

27

S0 e ey
3 )

S

wﬁ@@saa4§,

@HEEQHE(T,%W.
A

<. '

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A group of students comprises of 5 boys
and n girls. If the number of ways, in which
a team of 3 students can randomly be
selected from this group such that there is
al least one boy and at least one girl in each
team, is 1750, then nis equal to :

Options:

;A

Q colleged
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Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

faenfe4i % U= "qE 9 5 ©is® a9 n ASfFHA
g1 afs w9 o9E § ¥ o9 faenfd=i =5t 3=
g5 59 WHN T4 & 40, Toh T 2
H ®H 4 HH TF ofeh o4 FH H FH TH
TEH 7, 1750 %, 9 n TER T

Options:

, 24

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[Benelltidl 2is 43 5 Biszizil 24 n BlsEl=il

IR RUMA O, s 2L wyeniall, 2l 2l

215 B € 2 2l 2l 21 sl

cedl =01 [eaulzi=iHl 21 2561, wels dld yaie

szeliedl Al dva 1750 € Al n oRieR
8.

Options:

, 24

5 2

4 .
% collegedunias



Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The term independent of x in the expansion

;. o )
1 X 3 & i

nf{— —|[21 —W is equal to :
60 81 $2y o

Options:

1 - 108
o

2. &L

. —36

4. 36

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

By f

1 X 3 " ..
{— = || 2x2 —21 FUEE Ha A
60 81 | 2
HIA TS
Options:
1 - 108

_
2. &L
y —36
4. 36

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

X BN v 6

1 3 : :
{ e ‘ [2:;-2 —,} Al [B-dreni x
60 81 | &
2| 2=t ug B,

Options:
- 108

t
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

If ay, 8y, Ag, .o are in A.P. such that
a; +a-+a;;,=40, then the sum of the first
15 terms of this A.P. is:

Options:
150

1.
120

280

200

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

AT a,, a, ay, ... TH FARH FE1 H 50 THFR L
| 15 921 F1 IATFA ¢ -

Options:
150

1.
120

280

200

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

;
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o @y, Ay, Ay, ...... 2l W2 Al (AP) €
¥l a,+a,+a, =40 di 21l AP, Al ¥4Y

15 YElAL H2eul .

Options:

. 150

120
280

200

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If 3”{:1 +(22) -’-‘3{:2 +(33) 3“11'23 +
+(20%) 29C,, = A(2P), then the ordered pair
(A, B) is equal to:

Options:
, (380,18)

, (380,19)
. (420,18)

, (420,19)

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
gie 20C,; +(2%) 2%C,+(3%) 29%C, + vovveens
+(202) 20C,, =A(2B), q1 T T (A, B)
ELIEES % :

Options:
, (380,18)

, (380,19)

, (420,18)

;
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A4
, (420,19)

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ol 20C,; +(22) 29C, + (3%) 20C, 4
+(203) 20C, = A(2P) dl $445 sdS (A, B)
oRIe 8.

Options:

, (380,18)

, (380,19)
A4
. (420,18)

A
, (420,19)

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
X + Zsinx

lim — :
3 7 . rood
—=0y2 4 2 sinx 4 1 Ysin“x —x + 1

15 :

Options:

g *

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

. x + 2sinx

lim -

¥ 2 : i 0

l_‘”\l’x F 2sinx + 1 ysin“x —x + 1
AT ;
Options:

g ¥ Qcollegeduniag
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4 ®

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
x + 2sinx

lim = =
Xl \"Ix“+ 2 sinx + 1 \HSilI"I x+ 1
CRICE 8.

Options:

g *

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

r

R —1[ sinx — cosx
The derivative of tan 1{—}
sinx + cosx )

x Tr"\.
with respect to E,where kI €| 0, E is:

\ A4

Options:

1
1

1
> 2

2
>

2
4. 3

;
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Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i

X - —1( sinx — cosx >
5 F HMYE tan 1[_—}, EE]
sy + cosx )

[“[“r E} T STTHS ¢ :
%, 2»‘,‘
Options:
"
1
> 2
2
<3
2
4 3

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

—1( sinx cosx |- X il
tan 1(—L| d = -l s [san
\ SInY + Ccosx ) 2

LR

3 _
=, " “’
£ :.-..1@11'5[{], >

/)
Options:
1
1.
1
> 2
2
=
2
4. 3

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The tangents to the curve y=(x—2)2—1 at

its points of intersection with the line .
X X % collegedunias
r— L,-: 3; mntersect at ﬂ"“:- I_)Dm‘]_ * India’s largest Student Review Platform



Options:

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
THy=(x—2)*-1 %'ﬁmx—y=3ﬂﬁﬁfﬁlﬁq
g =ll W = = 2EE A H 4 T fag
T oy &2

Options:

1.
( 5
, 2
)
=, -
[ .1
3 X 2’1J

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A5 y=(x—2)2—1 Al 2l x—y=3 Ul
G5l s dust, [Gguioe
Options:

;
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B

= =
L
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let filx) = 5— |x 2| and g(x)= |}.‘ |
x e R. If flx) attains maximum value at a

and g(x) attains minimum value at 3, then

r

(x — 1)(x% — 5x + 6)

lim : is equal to:
r——ap G bx + 05
Options:
1 1/2
5 -1/2

¥

g 3/2

—3/9
i~ 2

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AT fix) = 5 |x — 2| 991 glx)=|x + 1
xe R. AR flx) F1 ARIHTH T R E T g(x)
#1 =gA99 HHE B W &, @l

L

- \ o [
lim &7 VO 7 X+ 0)
x——ap - 6x+8
Options:

1/2 :
1; / % collegedunias



z
2
o 3/2
- 2
i 3/2

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4Ly flx) = 5—x — 2| @A g()=|x + 1
xeRB. o flx) 2 a 20200 Herd Bud 409
2 g(x) @ B 2 =Y Bud qad dl

lim

5x + 6)

r——ofd

-

8.
Options:

L 1/2

bx + 8

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let « € (0, w/2) be fixed. If the integral

l‘ta.nx F tano

Jtanx

Afx) cos2a+ B(x) sin2a+C, where C is a
constant of integration, then the functions
Alx) and B(x) are respectively :

Options:

s

2

xr—aand .k}ge_ [sin(x

x+aand -lnge |5ir|{x

5 T and .EDBE |cos(x

ua]|

;
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4 X taand log, [sin(x + o)

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct

options are chosen.

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A e {D,ﬂrfz}ﬁ{m%l i FHHA
. ftanx + lana
Jtanx lamo
A(x) cos2a+ B(x) sin2a+C, &l C T%
T S5 8, O Feld A(x) 991 B(x) FEI:
¥
Options:

X—ao 3%1'.1039_ |s'111(x :x}|

x+a ﬁ.lnge |5f_n(x u]|
4 x— o #T -Inge |c::rs{x u-]|

. x+u3ﬂ1-loge|5in{x F o)

Note: For this question, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct

options ar e chosen.

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

-

o T | .

ARl 5 ce (0, w/2) (AR s2euul 20e 9. od

tanx + lanoe

2sldd | j dx=

tanx tano

A(x) cos2a + B(x) sin2a +C, sl C 235l

w5 B, dl BEEL A(x) @ Bx) 254
6.

Options:

. i—-a mt:i-loge|5i_n{x w}|

x+a H:{.lcrge |s'111(x u‘}|

3 x—a i .IDBE |cc+5(x u]|

;
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X+ a @i .Icrgt, |sin(x + o))
. '

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A value of e such that

f*'l e " ¢
) (xtatl) GEE'_SJ i
Options:
1
”
1=
2
2.
-2
3
1
2
4 2

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o 1 UE 9, faas fau

o T F 9
I{am Y (x+ a+1) = Iogﬂ[g] g%

i

Options:

B |

-3

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1 N

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl Qcollegedunia;



a Al 58 Bxd we

f;l e 1 '9}
= — L]
a (xta)(xtatl) 05*‘-[3) SIS
Opf[ions:
1
5
1. =
2
2.
-2
=
1
v
4, =

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the area (in sq. units) bounded by the
parabola y2=-‘lh1‘ and the line y=Ax,

A>=0,1s i,t_hen Ais equal to :
9

Options:

1, 4B

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
afs WA y2=4Ax q91 W y=\x,

A > 0,3 T5 & =1 e (F T §) L
9
T, AN TR

Options:

3 .
1. 43 % collegedunias



Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sl UAEY yZ=4Ax @A VUL y=Ax,

N >0, g2l SREld B dasa (Alasl) L
9
Gl dl A YRR B,
Options:

, 4B

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The general solution of the differential
equation (2 — %) dx — xydy =0 (x#0) is :
(where ¢ is a constant of integration)
Options:

i W+ 222+ ex3=0

i e oE
5 ] 2 +cx<=10

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl

No Option Orientation : Vertical .
Correct Marks: 4 Wrong Marks: 1 chllegedunl'as



HIFHA FHEHLW (y2—2) dv — xydy=0

(x=0) =1 =99 & ¥ :
(Tl ¢ U THEeH 3T )
Options:
i W+ 22+ ex’=0

5 Y2 +ax?=0

¥+ 2x3 + ox2=0

3

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

[Bse wallsrel (12— 2¥)dx — aydy=0 (x#0)

s

Al =4ius Gid £,

(sedi ¢ @ dsandl wamis 8)

Options:
i W+ 22+ ex’=0

5 Y2 +ax?=0

¥+ 2x3 + ox2=0

3

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A straight line L at a distance of 4 units from
the origin makes positive intercepts on the
coordinate axes and the perpendicular from
the origin to this line makes an angle of 6(°
with the line x + y=0. Then an equation of

the line L is:

Options:

i, [ﬁ f 1}.1‘ } {\E l}y = 82

;
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: (V3 -1)x+ (VB +1)y=82
3 B YD

¥ x+.ﬁy =8

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HeAtag H 4 5% i g0 9 U 9 T L
e el T ST 3a @ 9 € a9l
Hefag | 38 1@ W @4, Wiy +y=07% 919
60° 1 TN =T € | T T L 3T U THER
T

Options:

‘. [ﬁ f 1}.1‘ I {\E 1}y=8\E
: (V3 -1)x+ (VB +1)y=82

G \ﬁl +y =8

4 x+\By =8

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Glorlogal 4 w5l »ic2 2uadl 215 2w L,
LB 4R e 2AcviSL ol 8 21 Glar(Ggel
PL AL AL et YUl x+y=0 WA 60° -l
well oAl 5. dl 2wl L4 215 wlszel

Options:

;. [ﬁ t 1}.1‘ | {\JE 1}y=8\E

. (V3 -1)x+ (V3 +1)y=82

;
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3 Bx+y =8

¥ x+.ﬁy =8

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct

options ar e chosen.

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A triangle hasa vertex at (1, 2) and the mid
points of the two sides through it are
(—1,1)and (2,3). Then the centroid of this

triangle is :
Opt_ions:
3
TR
Ifi 7]
2 3" )
(3
2\ 3)
(33
4. \3" 3)

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

T T 1 U 9 (1, 2) W 5 e
S ATt & qee & geg-fag (-1, 1) 3R
2,3 % AW EFEFE

Options:
1 L
Y
N
s L1
52
5 \3 )

;
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

519 Bisior =15 BiRIGE (1, 2) 2wm 6 @

duil yair adl o oty -l Heylog il

(—1,1) 2 (2,3) . dl 21 Bsior] weds-,
£9.

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A circle touching the x-axis at (3, 0) and
making an intercept of length 8 on the
y-axis passes through the point :

Options:

, (3.10)

(3,5)

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl

No Option Orientation : Vertical @collegedunias
Correct Marks: 4 Wrong Marks: 1 Indas trgest Sudent Review Patform



x-31% %1 (3, 0) T T AT g1 A1 -G W
8 TS H Ad. U (intercept) A 241 TH
e Foet B @ o formg @ B o 37
Options:

y (3,10)

5 )

. 1L9)

k)

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x-28A (3, 0) 2010 Aq A s W
8 detlddl »idvis el adn
(g uiell i 22l

Options:
, (3,10)

> &)

5 (1.5)

4. ke

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The equation of a common tangent to the
curves, yzz Ibxand xy= —4, is:

Options:

i x—2y+16=0

5 x+y+4=0

5 2x—y+2=0

i ¥=Y +4=0 Qcollegedunias



Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FHI y2=16x T4 ay= —4 FHl TEH A=
Options:

i x—2y+16=0

4 x+y+4=0

5 2x—y+2=0

i x—y+4=0

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

a5l y2=16x 2 xy= —4 Al U 225

wilszer £,
Options:

i x—2y+16=0

5 xt+y+4=0

5 2x—y+2=0

i x—y+4=0

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An ellipse, with foci at (0, 2) and (0, —2)
and minor axis of length 4, passes through

which of the following points ?
Opt_ions:

L (2 ¥2)
(1, 242)
2

;
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(v2, 2)

=

(2, 242)
4. '

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e g, fowet T (0, 2) T4 (0, —2) )
& a1 Torms oy A I wEE 4 ®, A A 9
fFg fag g e s 27

Opt_ions:

L (2 ¥2)
(1,2v2)
=z,

(v2.2)

3

(2, 22)
4 '

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
(0,2) 24 (0, —2) 2412101 AlGRAL 24 21121 2424+l
detd 4 awil Guaay e U5l su [Ciguisl
YHR 2817

Opt_ions:

1, 2, +2)
(1, 242)
2.

(V2 2)

3

(2, 22)
. |

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl
No Option Orientation : Vertical :
% collegedunias

Correct Marks: 4 Wrong Marks: 1



A plane which bisects the angle between
the two given planes 2x—y+2z—4=0and
x+2y+2z—-2=0, passes through the
point :

Options:

1 (1, =4, 1)

, 24,1

. 2 -41)

, (1L4-1)

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

31 fau U FHAel 2x—y+ 2z —4=0 T4
x+2y+ 2z— 2= 0 =9 = BV S FHGHITA
FAA TF gEad, T § | fag 9 @
T E?

Options:
] (1, —4,1)

5 (2,4,1)

. @-41)

i (1,4, —1)

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al G HHddl 2x—y+2z—4=0 24
X+ 2y +2z—2=0 42l WEUA FUPId ¥HAL
(Gig izl vz sl
Options:
;. (1, —4,1)

, 24,1

;
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. 2 -41)

, L4 -1)

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

The length of the perpendicular drawn
from the point (2, 1, 4) to the plane

containing the lines
r=(i + j)+Ni + 2] — k) and
—Eh A, P ! T4 M 3
r=(i + j)+p(—i + j 2k) 18
Options:

3
1.

3

2.
1
3. 3
1
. B

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

T = (i 4 )N+ 2j — k) T
ro=(i + j)+p(-i + j — 2k) S
Fd AHAA T 95 (2, 1, 4) | =6 ™ @ &

F'Fﬂ_gﬂ's?%:

Options:

3
1

3

iy

L
3 | =

;
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Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

AR p o= (4 YA+ 2f — k)
ro=(i+ j)+p(=i + j - 2k WA
Wi wz (45 (2, 1,4) ol eRd daddl deud
8.
Options:

3
1.

3

z.

=
& -

: Yes Single Line Question Option :

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Let « e R and the three veclors

—3 Pt P -—0-
a=ai+j+3k b=2

M Py M
i+ g ok

o

and. & =t 3; . 3%. Then the set

—_ — —_

S={a: a, b and ¢ are coplanar}
Options:

is emply
1 pty

is singleton

contains exactly two positive

5 numbers

;
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contains exactly two numbers only

one of which is positive

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

)

AMaeRAMATHE 5 — o + | + 3k,

' ' ml; S

= pits
Il
(i)

L S

Options:

, Tz
, THE B

. AP (exactly) & o HEAH ¥

H qea: 31 9= 2 f9d 9 %aa U

J YAEF B

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
—F i My

URL 5 a € R B Ul 5 — o + | - 3k

b=2i+j— ak ¥

— A

ai — 27 + 3k A9 kel 8. d oaw

i
[l

—_ —3

S={a: a, bad ¢ Wuadly B)
Options:
. widl speL 8.

, Al B.

L B of Y Wil Y 9.

;
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s5el O vl HR1E 8 sl 2is o G

4, 0.

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A person throws two fair dice. He wins
Rs. 15 for throwing a doublet (same
numbers on the two dice), wins Rs. 12 when
the throw results in the sum of 9, and loses
Rs. 6 for any other outcome on the throw.
Then the expected gain/loss (in Rs.) of the
person is :
Options:

i 2 gain

loss

I\J||--b-

2 | =

(=1

loss

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

T =Afd 2 A (fair) TH 39 &1 TH
5 (SH 991 W UF B 9=:A) FH W T
%.15 Siraan 7, 361 91 W AN SH F A9
M W E 12 Sfam g qa TR = afomm
{nutcome}mﬁﬁﬁfﬂ%i 1 39 =t #\
TN (expected ) T4/ 7 (£.H) T
Options:

I.Fﬂ"TZ

aif 1
2

2.

Q colleged
India’s largest Student Revi

unias

iew Platform



o

:

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
wis s o MHdld WA G 5. vidl W
Y2 WA 25 2l dld 15 30 sd, 25l
WAl 9 wud 1z 12 30 wd B 2y
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Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Foraninitial screening of an admission test,
acandidate is given fifty problems to solve.
If the probability that the candidate can

solve any problem is i then the
5

probability that he is unable to solve less
than two problems is :

Options:
49

201
.-
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Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Let S be the set of all @ € R such that the
equation, cos2x + asinx=2a—7 has a

solution. ThenS is equal to:

Options:

K
1.

o 126l
5 Bl

L B

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Options:
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The angle of elevation of the top of a vertical
tower standing on a horizontal plane is
observed to be 45° from a point A on the
plane. Let B be the point 30 m vertically
above the point A. If the angle of elevation
of the top of the tower from B be 307, then
the distance (in m) of the foot of the tower
from the point A is:
Option;:

, 15 (3-+3)
15 (3 + \B)
15 (1+3)

15'[-5 V3)
4,

No Option Orientation : Vertical
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15 (3 + \B)
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Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The Boolean expression - (p=(~q) is

equivalent to :

ootions: M collegedunia



Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Correct Marks: 4 Wrong Marks: 1
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